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731X 0C 1 105 13106 FaEE RF B B BRIRER
732|X5 0C 2| 249 1005 X% 7494 o hi EBE JbimE
733X 0C 3l 138 12030 #Llh ERTF Fart FEAKE TFEE
734X 0C 4 214 10009 24 MB35 MOB A HEE
735|X4 0C 5/ 142 12094 Ex HEBH &1/ & A TEE
736|X9> 0C 6 32 13194 1RF &= BmAR BA BRRER
737/X5 0C 7 8 13041 =g Bu= HH faxE BRRER
738 X7 0S| 1| 105 13106 FaEE R¥ B B BRIRER
739 X5 0S| 2 249 1005 X% 794 o ti BE JtimE
740 X7 0S| 3] 239 11016 #ilhk HBY B8 =B FER
741 X5 0S| 4 138 12030 #lh ERTF Fart FE A TEE
742 X7 0S| 5/ 214 10009 i2A HEB MOB A HEE
743 X7 0S| 6 32 13194 1RF &= i) B A BRIRER
744 X4 0S| 7 8 13041 /&lm  EByH =H fEE B UAR
745 X 0S| 8 20 13075|P%k = EH W BRER
746X OR 1 225 10036 |75  Tis MOB & HEE
747 X5 OR 2| 105 13106 |k R¥ B BE BRRER
748 X OR 3| 249 1005 X8 749 o FR RE Pl
749|X5 OR 4 123 13202 |2/ FETF B & BRER
750X OR 5/ 139 12039 =4 %LF i G5k TER
751|X4% OR 6/ 138 12030 |l ERTF mart FEAE TER
752X OR 71 142 12094 | Ek B H £l HA TER
753/X% OR 8| 238 11015\ L E# =8 B BER
754 X5 OR 9 8 13041 |#2lm  BU# =H fExE BURER
755X OR 10 4 13168|=H =) BB th BURER
756/ X% OR 11 20 13075|H%= = EH W BURER
757 X5 1 123 13202 |2/ FETF NS BURER
758 X5 2| 155 12069 | H+H WLH1E VAN i f i TER
759 X5 3l 139 12039\ =4 #LF ?mAR Gk TER
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760 X5 0P| 4/ 138 12030 #Llh E=ERTF mErt FEAKE FEER
761 X5 0P| 5 32 13194 1RE & 1 B A BRER
762 X4 0P| 6 8 13041 #lm ByH =H fEE BER
763|X>1 -2 C 1 141 12111 KT A— HE MKRF FEER
764/X31 -2 C 2 19 13145 /s mF I B BRER
765X 1 - 2 C 3 74 13008 &% & F E= RN BRER
766/ X231 -2 C 4 224 10003 K& R’T W E—EB HEE
767 X231 -2 C 5 58 13056 FH)Il B /A & RIRER
768 X1 -2S 1 217 10007 @Rt AE TH ¥F HEE
769 X721 -2S| 2 245 19009 & & [E& B2t EF LEE
770 X7o1-2S 3 19 13145 /iy R=F I B RIRER
771 X751 -2SH 4 21 13120 =T #EF “wNl = BRIRER
772 X7a1-2S 5 58 13056 FHJIl B ‘A & BRIRER
773|431 - 2 R 1 217 10007 @Rt AE TH ¥F HEE
7714/X52>1 - 2R 21 141 12111 KT A— = MKRTF TEE
775/ X231 - 2R 3 21 13120 )T #EF “;N = BRIRER
776/X>1 - 2R 4 211 14027 RREB FET NIl rEESNE
777 X231 - 2R 5/ 218 10001 ;A —3 W E=—E HEE
7718 X>1 - 2 R 6| 168 12080 & F#F 28 MfEZ TEE
7719 X721 - 2R 7 74 13008 &% #F a2 AH BRRER
780/X2>1 - 2R s 200 14017 2R =FEF BH B& rESNNIEY
781 /X231 - 2R 9 90 13038 KH ==& ‘A & BRIRER
782 BFECH 1 47 13144/ \8F B e = BRER
783 EFHEC| 2 213 10011 gk, FHAM W E=—E HEE
784 EFEC 3 141 12111 KT BA— HE MKTF TER
785 EFHEC| 4 119 13148 giEH #£53 ZH B BRRER
786 EFHEC| 5 62 13137 &8 F7F ERE & BRER
787 EFHEC| 6 142 12094 |k B H Ea HA TER
788 BEFHEC 7 8 13041 /Klm EBuH =H fEE B UAR
789 EFEC| 8 216 10026 #HAk BB MR A BHER
790 :EFHE S 1 47 13144|/1\%53F B®W e = BRER
791 :EFHE S 2| 213 10011 #pK FH4 M W =—8p HEE
T92:#EFHE S 3 221 10027 #Jm ®EE |WH HEE BHER
793 EFIE S 4 75 13062 | A FTE I BE BURER
794 :EFIE S 5 20 13075|H%= = EH W BURER
795 EFER 1 47 13144|/1\%5F B®W| i = BURER
796 EFHER 2 213 10011 ¥Rk FH4AMN W =—8p HEE
797 EFER| 3 141 12111 KT BA— HE MKF FER
798 EFER 4 75 13062 | A FE I BE ERED
799 EFHER 5 142 12094 | Ek B H Ea HA TER
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800 EFER 6 20 13075 P& = EH M BRER
801|:EFHE P 1 143] 12095 T B =R BERE FES
802 | FEFH P 2 8 13041 #lg B =H  fgx BRER
803 | FEFHE P 3 58 13056 FH)II B /A & BRER
804 | N#kE C 1 99 13076 /B35 = L & BRER
805| Nk C 2 47 13144 /)\&F BEm s = RS
806| Nk C 3| 249 1005 X% 7494 o hi EBE JbimE
807 N#kEg C 4 197 14031 H# L ET RER M )R
808| N ki C 5/ 213 10011 gk, FHA MW EAR &5 HEE
809 N ki C 6 53 13069 /2 FERA =i thE BRIRER
810 N#kEg C 71 173 12114 ™)1 28 B IKE TFEE
811 N#kEg C 8 199 14034 5= b3 FH K R IR
812 N#kEL C 9 91 13092 /hr R— B0 E BRIRER
813 N#kEg C 10 19 13145 /iy R=F I B BIRER
814 N#kEg C 11l 121 13150 & &/ Wi 5 BRIRER
815| Nk C 12) 117| 131937 ME ANy B AR
816 N#kEg C 13 203 14010 T 7%= R &G B rESNNIEY
817 N#kEL C 14 96 13175 #& EF Rt E BRRER
818 N#kEg C 15| 218 10001 A& —3% W E=—E HEE
819 N#kEg C 16| 130 13155 /84K \ETF == 7 BRRER
820 N#kEg C 17 84 13178 #1O0 EE [SLSAPN ] BRRER
821| N ki C 18 28/ 13088 =iE =KEF | =E WR B AR
822 N#kEy C 19| 214 10009 i2A HEB MOB A HEE
823 N ki C 20 18 13122 ¥k NF EH W BRER
824 | Nkt C 21 152 12135/ =8 = i G5k TER
825| N ki C 22| 54| 13201|/tc17 HFHEZ EE PN B UAR
826 | N ik C 23| 234 8038 E:2 HA i) 1Z5S KB
827| Nkt C 24 24 13196 &% HET s 158 BRER
828 N ki C 25 66 13104 |14 =R Fo A -y BRRER
829 N #kEg C 26/ 154 12076 |5+ FRL Fe = TER
830 N#RE S| 1 47 13144|/1\%53F B®W e = BRER
831 N#k#; S| 2| 185 12091 | &)l RB¥F E= - N TER
832 N#kE S| 3/ 197 14031|H L BT BRI AE)E
833 N#RE; S| 4] 213 10011 #p FH4AMN EAR 5m HEE
834 N#RE S| 5 39 13160 %#H Y>CZ I BE HRAER
835 N S| 6 53 13069 /2 TFERM =i HE ERED
836 N#k#r S 7| 173 12114 |/1)11 A B BE TER
837 N#R¥; S| 8 199 14034 = b3 FH K BN
838 N#REL S| 9 91 13092/Nr  R— FO EmX BURER
839 N#&#EE S| 100 21] 13120 @I EF s — BRUAR
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840 N#kE#Ee S| 110 117 13193 7 #ME NS B BRER
841 N#L#k S| 12f 65 13123 &k (/A Mim  kE BER
842 N#k#E S| 13 146 12144 5kH ZB 2R = FEER
843 N#fkEy S| 14 172 12143 [ER 1L HiE BT FEER
844 N#k#k S| 15 84 13178 #1O0 E=E =% K& BRER
845 N#Kk#E S| 16 28 13088 =18 =&ET =iE HE BRER
846 N#%& S| 17| 214 10009|i2F/ »HD /N e BHER
847 Nfki#r S| 18] 152 12135 =8 = ;AR 1hBk TFEE
848 N#kE#EL S| 19) 154 12076 5H Mt FE = TEE
849 N #k&#k R 1 99 13076 /& F AE ERE & BRIRER
850| N k¥ R 2 47 13144 /\&F B pijik: RIRER
851| Nk R 3| 249 1005 X% 794 o hi B JbimE
852| Nk R 4 197 14031 HLE B BRI rEESNE
853| N#R#; R 5| 213 10011 whpk HAM B4R A BHER
854 N k&g R 6/ 171 12142 |55 = HE BT TEE
855 | N #k#k R 7 39 13160 #H Y >Z ) BE BRIRER
856 | N #&k#L R 8/ 199| 14034 BR TEX FH K FEESNE!
857 N k&L R 9 91 13092 /hr R— B0 E BRRER
858| Nk, R 10 19 13145/l R=F I & BRIRER
859| N #k#, R 11 121 13150 & &/ Wi 5 BRRER
860| N #k&; R 12| 227 8008 |AR&ES FET EE 1B TR
861 Nk R 13 21| 131201 BT s = B AR
862 | N#RE#; R 14 65| 13123/ &4k f{EIA Mim  okZE B AR
863 N#kik R 150 203 14010 T F &% e B FEENE
864 N ki R 16 132| 13156 LA = MEE B UAR
865 N ki R 17 124| 13153 &g RBF | =ZE A B UAR
866 N #Rki R 18] 84| 13178/ EE =2 K& B UAR
867 N ki R 190 168 12080 & T#T ER MEZ FTES
868| N #k#; R 20 98 13101 2 =74 =i thE BRER
869 N k& R 211 28| 13088|=1E H=RERF & HE B UAR
870| N #k#k R 22| 54| 13201|/tc17 HFHEZ EE PN B UAR
871 N ki R 23| 24| 13196/ EF HMHET gy 138 B UAR
872 N#ki#k R 24| 154 12076 |5+ FRL Fe = TER
873| N #ki#k R 25 220 10014|5H =EF W =—8p HEE
874 N#k& P 1) 107 13192 50 #tb NS B BURER
875 Nk Pl 2| 197 14031|H L BT BRI AR
876 N#RE Pl 3 39 13160 %#H Y>CZ I BE ERED
877 N#&& Pl 4 199 14034 = b3 FH K BN
878 N k& P 5 131 13154 | KR4+ InF == 7 BURER
879 Nk Pl 6| 227 8008 ARER T BEE 1B KR
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880 N#k#E Pl 7 203 14010 T F 742 % G A8 )12
881 N#E Pl s 84| 131780 HE SES AN BER
882 N#RE Pl 9 98 13101 #2F =74 =i thE BRER
883 N #L#g P| 10 28 13088 =18 =&ET =i HE BRER
884 N#RE; Pl 11 26 13143 FH HB7F i = BRER
885 N &g P| 12| 234 8038 | Ei2 H fia] [Z5S ZW R
886 N#&¥ Pl 13 66| 131044 ZER |l 22 B AR
887| DRk C 1 1] 13129 LK &H= KB &2 B AR
888| Dtk C 2 191 14016 7 &7F BH B2 R IR
889| Dk C 3 99 13076 /1B F Ax ERE & BRIRER
890 D#kE C 4 241 9019 #WIH BE RER TR N
891 | D#kEL C 5/ 231 8037 fH Tt& i [ZFS ZW R
892| DRk C 6| 57| 13061 K ¥ FI BE B AR
893| Dk C 71 129| 13200 ®HH =H= Rt BE B AR
894 | Dk C 8 83 13179 =% EE = KE BRIRER
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971 | D#REL R 30 22| 13080 #T FH K B AR
972 Dk R 311 148 12096 tH E7F =% BEXRED TEE
973| DKL R 32 76 13157 &L Eid BiLE & RIRER
974 Dk R 33 56 13180 B8H % RPN BRIRER
975 Dkt P| 1 1 13129 | |LA HE AXH B2 BRIRER
976 Dik#L P 2| 191 14016 7 &TF BH B& rESNNIEY
977 DR8Pl 3| 33 13185|@f =% wH B B UAR
978 Dk Pl 4 107 13192|%@ #ib NG B B AR
979 Dkt P 5 231 8037 | H Tt= ;WA FEX ZW R
980 Dik#g P| 6 57 13061 &K EF ) BEE BRER
981 Dk P| 7 5 13182\ =tkF B BA B AR
982 DLk P| s 83 1317955 EHE [SES AN B AR
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989 D#k# P| 150 65 13123 2K {E/A M35 KE B UAR
990 D#k#; P| 16/ 159 12054| —% XF £l 2T TER
991 D k& Pl 17 40 13082| K ¥/™F W 5 BRRER
992 Dkt P| 18 98| 1310122 =7 =iE thE B UAR
993 D#k#L P| 19 32 13194 |1RF &= BmAR BA BURER
994 Dik#k P| 20 8 13041 #ZlF BuH TH fEE BRUAR
995 Dk P| 21 38 13165| 78 MIKT EL N ERED
996 Dk P| 22 22 130802 #tF FH K BURER
997 Dk P| 23] 148 12096 tH EF =% BEXRED TER
998| C ki C 1 1 13129 1A H = KB &2 ERED
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1000| C #ki# C 3 77 13023 [EH Ef& =B B BRER
1001| C#k#g C 4 241 9019 #WH BE KEE 173 N
1002| C#k#g C 5 9 13070 EH #E AV S-S BRER
1003 | C #k&# C 6| 141 12111 KT RA— HE MKF FES
1004 | C#k#g C 7 63 13199 EH A= HFE B BRER
1005| C ki C 8| 143 12095 +&E HE Fa & FEER
1006/ C fki#k C o 81| 13020 @ IMARF |[REEX BE B AR
1007| C #kik C 10 61 13134 & /JABAE He E—BB B AR
1008| C fiki#k C 11 3| 13098 F# ART¥ FI BE B AR
1009| C#k#g C 12 85 13091 B3 EF ¥EH AR BIRER
1010| C#ki#k C 13 43 13084 1£fE  mBifE "R K& B AR
1011| C#RkEg C 14 25 13096 KfF EE3 SR Bk BIRER
1012| C#ki#k C 150 101 13162 5k 2 (i B AR
1013| C#kEg C 16 34 13010 &1L EF B ZBEA RIRER
1014| CH#RkEg C 17 68 13167 | Lilx E7F BB tE BRIRER
1015| C #ki#g C 18] 242 9016| =R =7 ats E£=7F PN
1016| CH#RkEg C 19 138 12030 #lh ERTF Fart FE A TEE
1017| C#kEg C 20 16 13009 &= FT =H fEx BRRER
1018| C#kEg C 21 6 13132 785 L1 H Hd B BRER
1019| C#RkEg C 22 198 14029 =H = =H E=m rESNNIEY
1020| C#KkEg C 23 142 12094 Ex HEBH &1/ & A TER
1021| C#kEg C 24 48 13151 e &7 Wi 5 BRIRER
1022| C#k#Eg C 25| 164 12098 &H Rl HEE BT TEE
1023| C#RkEg C 26 22 13080 E:ZD #hF FH K BRER
1024 | C#Rk#Eg C 27 12 13034 |k Hp & =K KEH BRER
1025| C #ki#g C 28 20 13075|P%k = EH W BRER
1026| C#kEg C 29| 188 14008 | lLf 9% BRI AR
1027 CHkik S| 1 1 13129 1LA H = AXH Bx BRRER
1028 CHkik S| 2| 241 9019 #WIH BE RER 1T3R HARRE
1029 CHki¥ S| 3 9 13070 EH #=* AV SIS BRER
1030 CHkik S| 4 63 13199 &5H AAE HLE B BRRER
1031 CHeEk S| 5 143| 12095/ T% ®\E FBE & FTESR
1032 CHeEr S| 6 61 131342 /J\BAE H E—AB B UAR
1033 CHi#k S| 7 3| 13098 ®#& AT FBE BRUAR
1034 CHkik S| 8 85 13091 | 5 & BH ETER BURER
1035 CHrEk S| 9o 29 13112 71rFa3%7 BE & B
1036 CHki# S| 10 93 13094 | E=4A BE XE EX BURER
1037 CHkik S| 11 11 13074 B2 EF BB th ERED
1038 CHik S| 12 25 13096 K EEX SR Bk BURER
1039 CHki¥r S| 13) 101 13162| 55k R EBE & BURER
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1040 CHhEL S| 14 34 13010 &1L =EF B ZBA BRER
1041 CHREL S| 15 40 13082 Kt I5F N = BRER
1042 CHkHt S| 16| 242 9016 =R =¥ At *= N
1043 CHk#L S| 17] 138 12030 fuili  ELKF mart FEAKE FEER
1044 CHkEL S| 18 16 13009 &= FF = UEES BRER
1045 CHeEL S| 19 6 13132 75 L1 H He B BRER
1046 CHkEL S| 200 94| 13124 &1k &7 =fE #HE B
1047 CHkHt S| 21/ 164 12098 &H R HiE BT TFEE
1048 CHeEL S| 22/ 196/ 14020 k#% =7 |£tE Xx#& )2
1049 CHhEL S| 23 38 13165 78 MKTF RPN BIRER
1050 CHkik S| 24 22 13080 E:Z fhF FH K RIRER
1051 CHkEk S| 25 20 13075 P=E = EH R BIRER
1052 CHkEL S| 26/ 188 14008 1L =9 BRI R IR
1053| C #ké#k R 1 1 13129 LA H= KB &2 B AR
1054| C #R#k R 2| 241 9019 #IHE BE KED TR RN
1055| C#k&% R 3 9 13070 EH #= AV SIS BRER
1056 | C #ké#k R 4 5 13182\ H=tk&F B BA B AR
1057| C k&% R 5/ 141 12111 R A— = MKRTF TER
1058| C #Rk#k R 6| 97| 13077 Bl BT EBE & B AR
1059| C#k&% R 71 143 12095 & HE FE = TEE
1060| C #k#k R 8 81 13020 =@ MARF |REEX BE B UAR
1061 | C #kék R 9 3| 13098 ®# ART FhBEE B AR
1062| C k&% R 10 85 13091 H3 & BH ETER BRER
1063| C k&% R 111 147 12124 == 5LhF i) HEk TFEE
1064 | C #k#k R 120 43| 13084 tkEE HBfE "R K& B UAR
1065 C #k#% R 13 25 13096 | K EEX SR Bk BRER
1066| C #k&% R 14 59 13198\ 5% == Ea B BRER
1067| C#ki#k R 150 34| 13010 &L BETF B ZA B UAR
1068| C ki R 16 68| 13167 L& ETF BB HHN B UAR
1069| C #k&% R 17 40 13082| K /¥ W 5 BRRER
1070 C #k#% R 18| 242 9016| =R =7 atE =7 HARR
1071| C kL R 19 138 12030 |l ERTF mart FEAE TER
1072 C#Rk#k R 200 16| 13009|FH *EF =H g B UAR
1073| C k% R 21 6 13132|8E L 1% He B BURER
1074| C#LEL R 22| 198 14029 | %=H Zip =H =M AR
1075| C k&% R 23| 142 12094 | Ek B H Ea HA TER
1076| C#k#% R 24 26 13143|5FH I12F i = BURER
1077 C#k#% R 25 38 13165| 78 MIKT ER N ] BURER
1078| C #k#k R 26| 22| 13080 LT FH K BRUAR
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1080| C #k&% R 28| 188 14008 1L =9 RER M RSN
1081 Chkik Pl 1 1 13129 LA HZE AKH &2 BRER
1082 CHk#k Pl 2 77 13023 MHE EE =B 12 BRER
1083 Ciki#k Pl 3 9 13070 EH #£ AV S-S BRER
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